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KEY-WORD TRANSFORMATION

They are building a new road through the town. 

IS 

A new road......................................... through the town. (3 words)
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KEY-WORD TRANSFORMATION

They are building a new road through the town. 

IS 

A new road........................................... through the town. (3 words)

A new road is being built through the town.



KEY-WORD TRANSFORMATION

For questions 1-5, complete the second sentence so that it has a 
similar meaning to the first sentence using the word given. Do 
not change the word given. You must use between two and five 
words including the word given.



KEY-WORD TRANSFORMATION

For questions 1-5, complete the second sentence so that it has a similar meaning to the first sentence using the word 
given. Do not change the word given. You must use between two and five words including the word given.

The director has postponed the performance for a month. 

OFF  

The performance has ...................................................... by the director for a 
month.



KEY-WORD TRANSFORMATION

The director has postponed the performance for a month. 

OFF

The performance has ...................................................... by the director for 
a month.

1) to postpone = to put off

2) The director has postponed the performance for a month. 

The performance has .......................................................by the director for 
a month.

Active (Present Perfect) Passive (Present Perfect)



KEY-WORD TRANSFORMATION

For questions 1-5, complete the second sentence so that it has a similar meaning to the first 
sentence using the word given. Do not change the word given. You must use between two and 
five words including the word given.

The director has postponed the performance for a month. 

OFF

The performance has .. been put off .. by the director for a month.



KEY-WORD TRANSFORMATION

For questions 1-5, complete the second sentence so that it has a similar meaning to the first sentence 
using the word given. Do not change the word given. You must use between two and five words 
including the word given.

It's possible that he hasn't received the bill. 

MAY  

He ................................................................ the bill. 



KEY-WORD TRANSFORMATION

It's possible that he hasn't received the bill. 

MAY  

He ............................................................. the bill. 

1) may(not) + V/have V3 = supposition/deduction



KEY-WORD TRANSFORMATION

For questions 1-5, complete the second sentence so that it has a similar meaning to the first 
sentence using the word given. Do not change the word given. You must use between two and 
five words including the word given.

It's possible that he hasn't received the bill. 

MAY  

He .......... may not have received ....................... the bill. 



KEY-WORD TRANSFORMATION

For questions 1-5, complete the second sentence so that it has a similar meaning to the first sentence 
using the word given. Do not change the word given. You must use between two and five words 
including the word given.

My father was furious when he saw the credit card bill. 

ROOF

My father ............................................................................... he 
saw the credit card bill.



KEY-WORD TRANSFORMATION

My father was furious when he saw the credit card bill. 

ROOF

My father ............................................................................... he 
saw the credit card bill.

1) be furious = hit the roof (idiom)



KEY-WORD TRANSFORMATION

For questions 1-5, complete the second sentence so that it has a similar meaning to the first sentence 
using the word given. Do not change the word given. You must use between two and five words 
including the word given.

My father was furious when he saw the credit card bill. 

ROOF

My father .......hit the roof when ......he saw the credit card bill.



KEY-WORD TRANSFORMATION

For questions 1-5, complete the second sentence so that it has a similar meaning to the first sentence using the 
word given. Do not change the word given. You must use between two and five words including the word 
given.

People say that China is a beautiful country. 

SAID  

China .................................................... a beautiful country.



KEY-WORD TRANSFORMATION

For questions 1-5, complete the second sentence so that it has a similar meaning to the first sentence using the 
word given. Do not change the word given. You must use between two and five words including the word given.

People say that China is a beautiful country. 

SAID  

China ............................................................. a beautiful country.

1)Complex Sentence with Object Clause   Simple Sentence + Complex Subject



KEY-WORD TRANSFORMATION

For questions 1-5, complete the second sentence so that it has a similar meaning to the first sentence 
using the word given. Do not change the word given. You must use between two and five words 
including the word given.

People say that China is a beautiful country. 

SAID  

China ...........is said to be............. a beautiful country.



KEY-WORD TRANSFORMATION

For questions 1-5, complete the second sentence so that it has a similar meaning to the first 
sentence using the word given. Do not change the word given. You must use between two and five 
words including the word given.

You must never mention this to him. 

CIRCUMSTANCES 

Under ......................................................... this to him.



KEY-WORD TRANSFORMATION

For questions 1-5, complete the second sentence so that it has a similar meaning to the first 
sentence using the word given. Do not change the word given. You must use between two and five 
words including the word given.

You must never mention this to him. 

CIRCUMSTANCES 

Under ......................................................... this to him.

1) never = under no circumstances

2) you must mention   must you mention (Inversion)



KEY-WORD TRANSFORMATION

For questions 1-5, complete the second sentence so that it has a similar meaning to the first sentence using 
the word given. Do not change the word given. You must use between two and five words including the 
word given.

You must never mention this to him. 

CIRCUMSTANCES 

Under ..........no circumstances must you mention....... this to him.


